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=] 200,000& x 123 2,400
OgI2al CCIV AtE2= 50,0002 12& 600
OLXNMNEHE Tl RAESHI
440,000 * 122 5,280
OiHIHI(&=+E301e) 140,000 60,000 80,000
ollg1sl 140,000 60,000 80,000
801 GilHIHl 140,000 60,000 80,000
01 BrilbIl 40,000 60,000 /20,000
OulIBI (&= AP0 AH)
20,000,000 *12] 20,000
Ol (&= XH2O0fl &)
20,000,000&*12] 20,000
B UHRRES 100,000 0 100,000
O=204&t 215 =HH
100,000,000& *13! 100,000
o= 2l 23,029,431 28,794,847 Ab,765,416
= 12,707,000
| 123,356
= 830,600
i 9,368,475
Bi-EEZE 2g2el(dte=E301g) 558,909 479,609 79,300
BB 22t 558,909 479,609 79,300




SA STAIRIA
mal: Glag 22
el BHAEIY 2gml(sE2IIY) CERED
SN - BE - SA(B) - NRAY - BES 0 &t £/ 0] oo HIRE2
201 Q2| 258,909 413,109 A 154,200
EEET 258,909 413,109 A154,200
O[A&FEISTIHI] 70,309
OIZWABIN ZHDI S SX2E
bl 1,500,00024+23] 3,000
OZHABEN A2 2K/
5,00021+3, 782 8,910
OUHZHHABEN HI42HIIS RX22Y|
10,000, 00024 %2CH 20,000
OBIZ QA2
2,000,0002111CH 22,000
OBi+BEIZE 22 7Y
426, 60021+ 15 2 6,399
Ols=iul] 188,600
OUZHABEY MII23(12)
17024%141,000K/k 1 H 2462 143,820
OHSHHABET ®II23(HL)
1302118, 000Kl 174 4 62 14,040
OBI4BIE HIALFEI| H27Y(AR)
1,53721+20, 0002 E4 30,740
401 AIEEI L 2 OHE] 300,000 50,000 250,000
01 Al 300,000 50,000 250,000
O[Al&H]] 300,000
OUSHWFBIE LSALS HEBA
300,000,0002/+13] 300,000
StexilE 2gRel(sE2IY) 3,624,964 5,500,872 1,875,908
SteHRIE 2L 3,624,964 5,270,872 A1,645,908
201 Q2| 3,192,248 4,641,230 A1,448,982
01 AFR 22| 1,010,834 1,648, 144 £637,310
OMSEE 2| 20,00021%202+33] 1,200
OBt+HeIAL FAIZel 28 7
50,00024+85+ 10| 4,000
OYeg EEEN 7Y
100, 00021453 500
OXeIAE oty 222 M|
500, 00024435 1,500
OBtEHRIAE ugs 242
42,0002+ 122 504
OBtHRIAIS TRIE U =AD| ARE 7
g 300, 00024 3CH+37H 2 2,700
Ost+HeIZ 2HEE |
4,500,00024+274 2 9,000
OBt+HRIAS 4zl H22A|
6,000, 00021 %13/x574 & 30,000
OBtEHRIAE THOIBS =2l
800, 00024451 1 JH 4 3,200
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S STARRIA
Ha: o 2l
ool SEHEIE 2Yuel (ST BIIY) CERE
SA-3Y - SRA(SAH) - MRAY - BES Off &4 ZI S0l &t HnsZ
OBtR2IAlA o5 21 A|
2,000,000 %57H 4 10,000
SEELERT=E 9,000,000%/+13] 9,000
OZalel FI| 2 A
100, 00024+ 12CH+13] 1,200
O] LA 100, 0002 +8CH+12] 800
OFII&| FIIZAHI 6,000
oy 2,000,002+ 13] 2,000
otz 3,000,0002!%13] 3,000
ogicts) 1,000,000+ 15} 1,000
OZAIIA ALBAIE FIIZAHI(HE)
400,000%1+13] 400
OtII TS BE A
3,000,002 13 3,000
O%E T HE ZAH|
3,000,0002!%33] 9,000
O22AAIE CHISA SZAAMI(HE)
6.,000,000%4+13] 6,000
O22AAE Ha ST RUSE ZAHHE)
2,000, 0002 %43] 8,000
OBt+HeIAlE MENSS A (S, HE)
1,000, 0002 +20H £ %128 24,000
OUESHHRIAL TI] RIEF A
5,700,00094+72] 39,900
OBH+HRIAE S 2D
1,000, 000247 IH=37H 2 21,000
OA2AAIE B A
3,000,000!%13] 3,000
OorE 22| Y2 rhat| 24,000
oget 1,300,00024+62 7,800
otz 1,200,00021+62 7,200
ogicis) 200, 000214301 4 462 3,600
oA 900, 00021462 5,400
OIS ENE I EIET]
85,000,000 +62 510,000
O%F s SRzl iyl
6,808, 33321 +37H 4462 122,550
Ol M IRl CHad|
4,833,333%1+62 29,000
OBH=HelAIS Asal 2etHat|
21,000,00021+62 126,000
OlsIRal +2] 180
OHYS MOIRINS BA2Y
20,00021%3% 35 180
OlfI2 RSy 5,200
OBtaMEIY SYRR HUIIS ALDS
bl 400,00024+13 5,200
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2N STAA
HH: 54T e
ol BIEHEIE 2ABR(GHETBIIY) (el o)
SA-ZE - SA(FAH) - NISAY - BES Off &K Z B0 &k Hwsz2
® 2224l 2,181,414 2,993,086 811,672
OMBlaE AlR2 52,800
oY, HE3t4HIAL
4,000,0002 122 48,000
OHTHRIBH=HEIAIL
100,000 *47H A+ 122 4,800
OQIEHY HB3IM AR 36,600
OgUsEHRIAL L EHHER
900,000+ 122 10,800
oEsIEHAL Y BH HIX
900,002+ 122 10,800
OAZBIEHRIAL Y EHHTR
300,000+ 122 3,600
OZMNGHEMEINA & SHBT
400,002 %122 4,800
OstABlaHRIAL ¥ EHHIR
50,0002 * 122 1,800
OARDEIAHIAIE L EHHI
400,002 %122 4,800
OdtaHelAle SRHABE Jtey|
800,008 *13] 800
OAgrorm 2| EalH|
54,0002 *424*18] 216
OFJ|QtE 2| EalH|
100, 00024 *42 13| 400
OAIEBHIRAIL-BZ 187,000
OBt HANA BOIZHE 223
75,000,00024+18] 75,000
O%F THS RX2 2F DAY
10,000, 00021 %37 4 30,000
OtHII TS RXI2l 22 DHH|
10,000,00021*18] 10,000
oZAX ¥ Ba2 Ml 72,000
oet 150,000+ 13+ 122 23,400
e 150, 0002 x20E* 122 3,000
ul=ty 150, 0008 +7=+122 2,600
IRV =T 271,1%
OBtEH2INA AS SN2 L B4
5,00021%2, 8691 14,345
OBt HERY S STl
4,950,002 #33] 14,850
OBt HRIAAE FA4 KXY
5,000,002 *13] 5,000
OBIZ SX2 ¥ 22| 48,000
OEQIXZIAIE BER
2,000,00024%5CH 10,000
0RYUE RUET
10,000,00024+2CH 20,000
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SN =P
X-Iil-l: I’d—al
£l 2% 22 (5H4ETII2) (ciel: @
- S2(B1H) - HIRAIY - BES O &kt IS 0fl At oA tmE==]
oExllE BER 5,000,000 »2CH 10,000
oz OlsHES
1,000,000 «8CH 8,000
OLZEE ANE=E RAZe € 24 98,000
o AKXl £H] 10,000,000 * 174 2~ 10,000
OHEH O BRI
2,000,000 57 2 10,000
o &kt & 10,000,000 *29H A 20,000
0 ZSE X £H]
5,000,000 *30H 2= 15,000
osEXIEH| 5,000, 000& *2JH 2= 10,000
oIl U oY KAz
4,000,000& +2CH 8,000
0 ZIH2I AL 16,000, 000217} 4 15,000
oASHYl BT DR
1,000,000& * 100H 2 10,000
OZSIH £912 SNzl L P4
2,000,000 +6CH 12,000
OXcIAIZ &£4| 2t |RA2el X 244
5,000,000& 13! 5,000
oHIAEAET| By
2,000,000 *1CH 2,000
ONSEE B=4| 800, 000& = 10CH 8,000
0JIH&H RXI2I]
100,000& *705 7,000
O&JI&Hl =Xl&cldl
200,000 205 4,000
oS sXlZeltl 1,000, 0003 *3CH 3,000
OHEA HH KA X Bab|
15,000,000 * 1004 15,000
Osg&elAAE SN2+ & 24|
10,000,000 *1JH 2 10,000
OMRIAE HED| BA DA
2,500,000 x45 10,000
OBOIAE ABNSSYTT RN L4
10,000,000 * 1004 10,000
O3 EFAIE £ RX22/
5,000,000 100 2~ 5,000
OINEEHIRXIHI]-tH=2 502,505
OF+HEING A AN L 24t
0002 +8,541m’ 42,705
OsleHeNE SN HENY S RAB2
u 6,500,000 33! 19,500
OstaHalAlL ZF% SRz
6,000,000 33! 18,000
OABABIY A2 RV L 244)
700,000 *37H 2 2,100
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2N ATARIA
HH: ST e
o9l SteHRIE 2Y22l(sERIY) (ol z el
SA-ZE - SA(FAH) - NISAY - BES Oi &F2H Z B0 &k Hwsz2
ORYUE RABT RN 2+
10,000, 00024 +4C} 40,000
OURC S22 4,000,000 %20} 8,000
0REXZINE SXIR2
4,000,000 %20} 8,000
OAZHY AILS SN2l L 244 118,000
0 EAMKI & 10,000,000 174 2 10,000
0 WEAHIOf RN
3,000,00024* 1074 2 30,000
0 EZEFX &l
7,000,000 %47 4 28,000
o ==Fa| 15,000,000 x27H 2 30,000
0gaI| L BOj&H SXI22
5,000,000 *4CH 20,000
OZST 491} SN2 L 2244
2,000,00024*10CH 20,000
OMEIAIA &) 2 S22l ¥ 244
5,000,000 +23] 10,000
OXIHT, SEUHEI RXI2El
1,200,000 *1CH 1,200
OH2IAE B0IAE SXZ2 L 244
100,0002 *207H 4 2,000
OJIH&Y X2
500, 00021+30% 15,000
OFII&H SXI22IH|
800, 00021+20% 16,000
OBHBIOX SARY KX
500, 00024%2674 A 13,000
OCCTV X1 Z2!H| 200,000 ¥307 4 6,000
OMTYAL | RXI22IH|
4,000,000 %474 A 16,000
OUPS SXIZ2IH| 1,000, 00084 %57 4 5,000
OBIE =4y 2,500,00024+103] 25,000
0£A2AE RXI24H| 108,000
02IIYEI| ARE Y QU
4,000,000 *43] 16,000
0ZX OISHI 22/H|
5,000,000 *2CH 10,000
0RISE]| BRHK MR L X
5,000,000 *1CH 5,000
0 AZE AAMGDTRI| HTE DI
25,000,00024*13] 25,000
02T LI sx2e
1,500,00024+43] 6,000
0422 SCHA WA
5,000,000 *1CH 5,000
0EEHH L HAH SX
10,000, 00024 +1H 2 10,000
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2N ATARIA
I BT e
o9l SteHRIE 2Y22l(sERIY) (ol z el
SA-ZE - SA(FAH) - NISAY - BES Oi &F2H Z| S0l At Hwsz2
0 AZAIE U2 DA
5,000,000 %17 A 5,000
0 A TR RE{2 e DA
1,500,000 20} 23] 6,000
0AUAIE ST REA L IS P
o 2,500, 00024 %63] 15,000
O3 ZH AL U X2l
5,000,000 13| 5,000
OBt4H2IR ATAILS HA
9,000, 00021*17H A 9,000
OLA&RHISIYI]-0I2 108,800
OJIH &Y |XZ2 L B4H]
500,00024%37 74 & 18,500
ONIHEE SN2l YL E44|
100, 0002 *100CH 10,000
OASHH|, RBH SX24 L 24|
400, 00024 %371 2 14,800
OFIITY SN2 L B4H|
500,00024+37 74 A 18,500
OTELH RN L E4H|
1,000, 00024 *377H 2 37,000
0AS)| &Yl B4
1,000,00024* 1074 2 10,000
OLAERHIRTIYI-A= 47,650
OJIH &Y |22 L E44| 22,000
OBI X2 500, 00024 *20CH 10,000
0240 RAR2L
4,000,000 *1CH 4,000
0SE)| R
4,000,000 %2} 8,000
OHESRH S22l L 22|
735,00024+20CH 14,700
OME BHBIH SAR2 L 244
300, 00021 *24CH 7,200
OFIILH S22l
62,5002 <20 Z+33] 3,750
O[AI& R KA ]-8t ok 34,150
OJIH&H R L 24| 22,000
OBI X2 500, 00021 *20CH 10,000
04| KA
4,000,000 *1CH 4,000
0ZEI| RAB2L
4,000,000 %2CH 8,000
OHERH S22l L 24|
700, 00024 +6CH 4,200
oSt SHEOF S22l L 24|
300, 00024+ 14CH 4,200
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SA SEAIHA
M Gl 22
SRl SteX2IE 2g22(StET301Y) R
M- - SA(3) - MRAY - BES Ofl kel Z| S0l At Hlns
O&I|&H |2l
62,5002 x20E5+33] 3,750
OIANEZHIKSXIHI -2 Al 46,850
OJ|H&Hl X2l ¥ 22H| 22,000
oTI X2l 500,000 x20CH 10,000
0 E4J| KX=2/H|
4,000,000 +1CH 4,000
0BEI| |XA2IH|
4,000,000 +2CH 8,000
Odt=X2lAlE BX NEEUS S22
Bl 1,000,000 33| 374 A 9,000
OH=SHH X2l L 244
700,000 *6CH 4,200
OZAN SHEZY RNl L B4l
300,000 x28H 8,400
O&I|&H |2l
65,0002 x 10553 3,250
Ole24l] 6,527
OHIAYEI(ESR) 3,887
ogg 1,65421%85 £ % 10A| 2t 1,406
odlE 1,65421%50 £ *10Al 2t 827
0 Shat 1,65421%50 £ % 10Al 2t 827
0 2A 1,65421%50 ¢ *10AI12+ 827
OSEAH|(Jt&El) 2,640
oY 1,76024%10 £ 30 528
olis 1,760 %40 £ 30 2,112
Ols&tl] 885,921
OYY Gt4H2E &2
17024 %64, 000K« 14 A +6H 65,280
OUE GHHM2IE ®MIIS2
17021 %380, 000K« 1 JH A <6 387,600
oE LESHEHIEY MRS
17024570, 000K 14 A +6H 71,400
OXI=sIEHeIANE HIIRS
15024 %20, 000K« 14 A +6 R 18,000
OXMEEHTLIE MRS
1502 *600KW* 1271 A 6 6,480
OSHAHEHBIAIE &IIR3
13024 %25, 700K« 14 A +6H 20,046
OSIMEHEIE M2
13024 %1, 500KWBIH A +6H 9,360
OZNGHEHRIAIE ®IIQ3
130! %45, 000K 1 JH A6 35,100
OZANEHEIE &2
1302 *800KW+ 10JH A +6 6,240
O0I2stHMelIANE HIIRS
1302 *2, 100KW+37 JH A 6 60,606
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S 2TAIHA
M Gl 22
SRl SteX2IE 2g22(StET301Y) (EEEE))
2AH - 33 (312) - MIRA = Ofl kel Z| S0l At Hlns
O0IS5l4 SHEEE ®IIQ3
130! *550KW21 JH A +62 9,009
OLHE A2AUAIME BXAHZ 72(LNG)
8202 *40,000m +6 & 196,800
202 04| 29,600 29,600
01 2oL 29,600 29,600
OYGAstHelAME HRFX0H|
20,0002 x4 2 %1003 8,000
OEst=HMeIAlE HRE=TI0H]
20,0002 *4Z %1003 8,000
OBHEHGHEHRIAIE RER04H]
20,0002 32 *1003] 6,000
OBt=HMelAlE £EBAL AIZTHE 0odH]
20,0002 x22 %1003 4,000
Odt=XMelAlE 2HQA HEHIUS ol
120,000 x6 x5 3,600
206 24| 182,116 219,892 N37,776
01 H2HI 182,116 219,892 N37,776
OdtEXeIAIE =3 SF5HIE MEM 7
el 10,0004 %1004 %33 3,000
Odt=MelAl" gootE o AtH|HE ¢
400,000 %23 800
OS UGt AL 2AZH| 29,722
OS&HI(PAC) 3302 *80kg *365 9,636
onEXSEM 5,610 x6kg*365 12,286
OLRDIMUIES
430,000+ 10E+13] 4,300
OJbALH 750,000 x1 Ex23] 1,500
OXFE AACH 1,000,0002 1 E+25| 2,000
OUEst=HEIAlE 2AZH| 148,594
oA 473,000 *8 E+63] 22,704
O MGIAFA 2302 200,000k 46,000
OEAXA(ERHR) 12, 1002 «2007H 2,420
O ST HI(PAC) 3302 *600kg *365 72,270
OEFHl 6,500 x10kgx80 5,200
207 SHoHeH] 196,000 380, 150 A 184,150
01 AR SSY| 196,000 368,650 A172,650
OBtEHBIAIE AB| AlEE2 FIIHEEA
29 5,000,000 2«54 A 25,000
OBt =ML HUCHHMAEZY 9 (SHat, 4l
=) 12,500,000 #2042 25,000
Ot AI|&H| QHNZAICH A (G4H2IH,
BT I 12,000,000 *2JH A 24,000
O= M0oIS Z2/HE E"S HE & BHE
ey 100,000,000 13 100,000
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2A:
X XH -
o e

=aak

=EAE A
St 22|
St=deld 2gael(ste=301Y)

SA - FE - SRA(3H) - MRAE - BES Ofl &F2H Z| S0l &Y Hws2
OUEot==HelAlE SH=20F S& 26t
HaE 289 22,000,000 =13 22,000
405 AtatE = 25,000 25,000
01 M ESFH SHI 25,000 25,000
OUZdt=xelAld &I 704
2,500,0002 *10CH 25,000
St=2t) EHI(Gt==3019) 9,044,194 15,984,510 26,940,316
= 5,134,000
p) 85,592
i 3,824,602
Sl S BH==AEUIDHE S AL 70,000 122,000 252,000
401 Al HIZL S 0HYI 70,000 120,000 250,000
01 AlZHI 70,000 120,000 /50,000
O[AlI=HI] 70,000
Odt==Xel7LH h==&H| NS A
70,000&x1,000m 70,000
C2ole=22 dhl 1,386,975 310,000 1,076,975
= 1,056,000
J| 30,975
s 300,000
401 Al HIZL 201 1,386,975 310,000 1,076,975
= 1,056,000
Il 30,975
T 300,000
01 A<l 1,186,975 310,000 876,975
O[AIEHI] 1,186,975
O =ot=22 HHISA
1,186,975,0002 100 & 1,186,975
= 1,056,000
J| 30,975
s 100,000
02 Zeltl 200,000 0 200,000
OL=ol=2=Z HdISAH 22l
200,000,000& %104 A~ 200,000
M= HEXN T o222 FHIAY 3,008,322 1,411,000 1,687,322
= 2,778,000
Jl 37,746
= 282,576
401 Al HIZ 201 3,008,322 1,411,000 1,687,322
= 2,778,000
J| 37,746
s 282,576
01 A&l 2,948,322 1,260,000 1,688,322
O[AI&HI] 2,948,322




2A:
X XH -
o e

=aak

SN - GA(SH) - NRAY - BES 0l &t £/ 0412 HlRE2
ONS ZEXT stz BUlAY
2,948,322 00021+ 17} 2 2,048,322
2 2,778,000
| 37,746
2 132,576
02 22yl 150,000 160,000 0
ONE YEXT o432 ZHIAY 22lt)
50,000,002 +13] 150,000
YR Yol L AN T o4AR FHIAY 1,819,897 12,330,710 £10,510,813
2 661,000
| 16.871
2 1,142,026
401 AIEBI L= ThY| 1,819,897 12,380,710 £10,510,813
2 661,000
| 16,871
2 1,142,026
01 Al&H 1,677,871 11,625,710 £9,947,839
O [AI&HI] 1,677,871
0¥ Yol L FAXT SH4B2 FUIAY
1,677,871,00024 %174 2 1,677,871
2 661,000
| 16.871
2 1,000,000
02 22yl 142,026 700,000 557,974
O Yol L FAXT 522 FHIAY
22| 142,026, 0002!+13] 142,026
NS HEXT SHABE FHIAY 256,000 227,000 29,000
2 139,000
2 117,000
T EEST] 256,000 227,000 29,000
2 139,000
2 117,000
01 A& 206,000 167,000 39,000
OlAl&H]] 206,000
OUS HEXT 51422 HHIBA
206,000, 00024174 2 206,000
2 139,000
2 67,000
02 22yl 50,000 60,000 210,000
Odl= HSXT o422 THIZA 22t
50,000, 00024174 2 50,000
=F 54T ASE DHZABA 100,000 00,000
401 AIE Bl L= ChY| 100,000 00,000
01 Al 100,000 100,000
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S STARRIA
HH: ol e
ool ok (ot E301Y) (SH &)
SA-3Y - SRA(SAH) - MRAY - BES Off &4 ZI S0l &t HnsZ
O[Al&HI] 100,000
o= otk AIE= 22 UM Ex3AE
At 4,000,000 *257H 2~ 100,000
Q2T ELEIA 80,000 100,000 20,000
401 Al&HIZ20HY| 80,000 0 80,000
01 A&l 80,000 0 80,000
O[AI&HI] 80,000
022 FE&H|
4,000,000 *207H 2~ 80,000
ot=2t2 J|s=a&It 400,000 101,800 298,200
401 AlEHIZL R OHYI 400,000 101,800 298,200
01 Al&Hl 400,000 101,800 298,200
O[AI&HI] 400,000
Odt=2Z J|s=alt
400,000,000 *1JH 2 400,000
g AMEX P ot=22 FHIAMS 200,000 200,000 0
401 AIEHIZL 28I 200,000 200,000
01 AlIEHI 200,000 200,000
O[Al=HI] 200,000
0% MEXIF o222 HHIAY
200,000,000 *17H 2~ 200,000
=& OtEXl7 =Fot=22 HEZA 500,000 0 500,000
401 AlEHIZ 20| 500,000 500,000
01 AIZHI 500,000 500,000
O[AI&HI] 500,000
0323 OtdXIF Sote22Z HEIA
500,000,000 =170 2 500,000
LSIHESZ WHSBA 100,000 20,000 80,000
401 AlIEHIZL R OHYI 100,000 20,000 80,000
01 Al&Hl 100,000 20,000 80,000
O[AI&HI] 100,000
OX3ME £ WHSBAM
500, 0002 *2000H 2~ 100,000
BH==&tl A &3 A 200,000 100,000 100,000
401 AIEHIZL 28I 200,000 100,000 100,000
01 AlEHI 200,000 100,000 100,000
O[AIZHI] 200,000
O4ld Hi==&HI SAt
2,000,000 «100A 200,000
&S X7 SE2ACUXNS A 833,000 200,000 633,000
= 500,000
[ias 333,000
401 AIEHIZL 28I 833,000 200,000 633,000
= 500,000
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A AR
M Gl 22
ool ok (ot E301Y) (SH &)
SA-3Y - SRA(SAH) - MRAY - BES Off &4 ZI S0l &t HnsZ
= 333,000
01 Al&HI 833,000 200,000 633,000
O[AI&HI] 833,000
OHsSE 82X ot SE2A2UXNSE &
HIAHS 833,000,000 1K 2~ 833,000
= 500,000
i 333,000
sHE OIS0t FUIAIE (Bl E301g) 9,741,364 6,789,856 2,951,508
= 7,573,000
| 37,764
s 830,600
= 1,300,000
0l 2K+ sHE OiSot=% EHIAIZ 7,254,800 1,540,456 5,714,344
= 6,061,000
T 693,800
= 500,000
401 AlIEHIZL R OHYI 7,254,800 1,540,456 5,714,344
= 6,061,000
= 693,800
i 500,000
01 AlIZHI 6,954,800 1,240,456 5,714,344
O [AIZHI] 6,954,800
o0l E+X7 sHEDS ot=X EHIAt
& 6,954,800,000& *1JH A 6,954,800
= 6,061,000
= 693,800
= 200,000
02 Zcldl 300,000 300,000 0
OO0l 22X+ sHEOS ot==% ZHIAH
o Zeldl 300,000,000& *13] 300,000
TXE KT sHENS0=S ZHIAY 845,233 637,000 208,233
= 492,000
| 11,033
= 42,200
ik 300,000
401 AIEHIZ 2018 845,233 637,000 208,233
= 492,000
| 11,033
= 42,200
s 300,000
01 Al&Hl 645,233 537,000 108,233
O[AI&HI] 645,233
O&X Z3HX7 =0 E0IS ot=& EHIAM
& 645,233,0003 * 10 2 645,233
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S STARRIA
Hu: o 2l
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